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3araipHi MOJIOKCHHS

MeTor0o HaBYaHHS AHTIIHCHKOI MOBH Yy HEMOBHOMY BY3i € TiATOTOBKA
CTYJICHTIB JI0 MOBJICHHEBO1 JiSUTbHOCTI 1HO36MHOIO MOBOIO, III0 TIepe0ayac HassBHICTh
MPAKTUIHUX, TMPOo(eciifHO-OpIEHTOBAHWX HABWYOK, SKi TICIS 3aKiHYEHHS KypCcy
HaZaIyTh iM MOJJIMBICTh YMTATH OPHUTiHAJBHY JIITEPATypy 3a CIEMiaJbHICTIO IS
BHJydeHHS HeoOXimHoi iHpopmamii; mpuiiMaTH ydacTh B YCHOMY CIIIKYBaHHI
aHTJIIACHKOI0 MOBOIO B 00CS31 MaTepiaiy, ependadeHoro mporpamoro.

[Mocionnk «JIekcnyHi i rpaMaTUyHI TECTH IS CTYICHTIB CTapIUX KypCiB
C€KOHOMIYHHUX CIICIiaJbHOCTEH» CTBOPIOBABCS 3 METOI0 3a0E3MEUeHHS IIBHJIKOTO
KOHTPOJIIO 0a30BUX 3HAaHB B c()epi aHITIOMOBHOT €KOHOMIYHOI JICKCHKH 1 'PaMaTHKH.

Buxigunit Matepiax aus tectiB Oyio migiOpaHo 3 ypaxyBaHHSM THX TeM, SIKi
IINPOKO OOTrOBOPIOIOTHCS B 3ac00ax MacoBoi iH(popMalii i, sSIK IpaBHIIO, 3HAXOSTh
CBOE€ BiIOOpaXeHHS B YUCJICHHUX ITIPYYHUKAX 1 MOCIOHMKAX, SKi CTBOPIOIOTHCS 3 JJIS
CTyJIeHTIB HampsMKy «EkoHOMika» i «MeHeIXMEeHT», sIK Ha YKpaiHi, Tak i 3a
KOpZoHOM. TeKCTH, II0 MOCITYXUIIM 0a3010 JIsl CTBOPCHHSI TECTOBHX 3aBIaHb, OyJIH
BiliOpaHi B pe3y’abTaTi JOCHiKEHHS 1H(QOPMAIIITHOTO TIOTOKY €KOHOMIYHOL
CIPSAMOBAHOCTI 3 BUKOPHCTaHHAM TakuxX Jukepen sk “The Economist”, “Harvard
Business Review”, “Herald Tribune”, “The Sunday Esfita in., a Takox IHTEpHET-
CaiiTiB.

Ilepma wactuna mociObHnmka — Grammar testS —MIiCTHTh TpHU BHIM TECTIiB
BIITIOBITHO JIO THUITY TECTOBOTO 3aBJIaHHS:

1) Tect Ha BHOIp MPaBHJIBHOTO BapiaHTa TrpaMaTH4HOI (oOpMH i3
JEKUTBKOX 3alPOIIOHOBAHMX;

2) tect Ha 3anoBHeHHs nponyiuenoi yactuau peueHHs (filling in the
gap) i3 KiIbKOCTI 3alpONOHOBaHMX 4YOTUPHOX Bapiantie (A, B, C, D —
multiple choice)

3) TecTn Ha MOIIYK OAHIEI JEKCHYHOI a00 rpaMaTHYHOI MOMIJIKH B
YOTHPHOX I IKpECIeHHX YacTuHax peueHns (A, B, C, D)i BunpasieHss ii.

Jlpyra wactuHa mociOHuka — Vocabulary tests -micTurh TakoX TpH BHIM
TECTIB:

1) tect Ha BUOIp MpaBHIBHOTO BapiaHTa i3 JBOX 3aMpONOHOBAHUX;

2) TeCT Ha PO3KPUTTS IYXKOK i MpaBUIIbHE BxKUBaHHsS (popmu crosa (
TOOTO 3HaHHS MpediKciB i cydikciB);

3) mouryk 3aifBoro cioBa B psIKY.

XapakTep IUX TECTiB TpaaumidHui. Taki BUIU TECTiB JOOpPE 3apeKOMCEHIYBAIU
ce0e 3 TOUYKH 30py KOHTPOJIIO 3HaHb B 00J1aCTi JICKCHUKH.

BpaxoByloo4n CKJIQJHICTh TpaMaTUYHUX SIBHIN, [0 BHBYAIOTHCS Ha
TPETHhOMY-UETBEPTOMY KypcCi, TpH CKJIaJaHHI BIpaB B HABYAILHOMY IOCIOHHWKY
BEJIMKY yBary MpHIiJIeHO MOBTOPIOBAHOCTI JISKCHYHUX OJUHUIb 1 TPAMATHYHUX SBUIIL
1 BUKOPUCTAHO TIPHHIIMIT ITOCTYIIOBOTO 30UIBIICHHS PiBHS CKIQIHOCTI, IO JO3BOJISIE
CTyJIeHTaM Kpallle CHCTeMaTH3yBaT HaBYaJIbHUI MaTepial.

3anpornoHOBaHi TECTH € ehSKTUBHUM 3aCOOOM MiITOTOBKH JI0 CK3aMcHY.
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I. GRAMMAR TE STS
PART 1. VERB
(tense; voice; sequence of tenses; tense foimslauses of time and
condition, referring to the future, after conjunctions ‘when, as soon as, if’
etc.)

TEST 1. Choose the correct verb form from a), b), c)tadiill the gaps in
the following sentences.

1. During its 125-year existence, the General Ee€o ... as steadily as
Edison’s lamp.

a) is glowing b) has glowed c) glowed d) was glowing

2. Before each event [social gathering], he askéd wise ... and did
background research on the other guests so thaiheé initiate conversations.

a) has been invited b) was invited c) had beeited d) will be invited

3. South Korea's finance minister yesterday sammin in Asia’s fourth-
largest economy ... to around 5 per cent next year.

a) would slow b) is slowing chwied d) will slow

4. Companies were shifting formidable quantitiesnofney from country to
country with almost unprecedented ease, thoughgtioatth ...in recent years.

a) is easing b) is being eased d)asise d) has eased

5. Sometimes different national subsidiaries ofdhme firm ... in head-to-
head conflict.

a) islocked  b) have been locked c) Mecked d) locked

6. The Japanese companies, which appeared ont#dradtional scene in
the 1950s when tariff barriers..., preferred to @ as much as possible at
home for export.

a) were falling  b) have fallen c) fell  d) has been falling

7. This survey will argue that a period of cut-lir@ompetition ... them
[multinationals] fitter than they have been for déees.

a) has left b) leave c) avieg d) was left

8. The average size of workplace ... steadily throughhe industrialized
world since the late 1960s as large organizationsotbreak themselves up into
smaller parts.

a) has fallen b) was falling c)isifal  d) has been falling

9. The region [Hong Kong] ... the birth of a new softexpatriate: an
ethnic Chinese who has been educated in westemndsssschools and spends his
time moving from one lucrative posting to another.

a) is seeing b) had seen S 6EEN d) saw

10. In spite of the many articles and books on depa management, it ...
still ...very little.

a) has understood c) is beimgleustood

b) - understand d)nslerstood
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11. Today, technology ... brands to move to a mophisticated level of
competition by providing a new brand experiencetlgh the Internet.

a) allow b) will allow  c) is allowing d) had allowed

12. 3M [a company] ... their corporate logo 30 tinsexce it's inception in
1906.

a) have redesigned b) were redesigning ®sigded d) redesigns

13. Since Asian producers began swamping the wuthd high quality yet
cheap imports, quality at cheap prices ... a given.

a) had become b) became c¢) will becon® has become

14. Today, products and people ... their lives thiooigands.

a) have been living b) are living  c)ed/ d) have lived

15. If the world’s best basketball player ... Nikeosh — then they must be
good.

a) wear b) will wear C) is worn d) wears

16. China’s economy in the past three years ...atrat 10%.

a) was grown  b)is growing c¢) has beemigig d) grew

17. The senior managers were asked what was theimpsrtant lesson
they ... from the recession of the early 1990s.

a) will learn  b) had learnt c) lelarn  d) was learnt

18. When they ... back to India they will have tarstheir career afresh.
a) come b) came ¢) will come d) have come

19. It was the first time he ...Welch [the CEO of|GE

a) would meet b) meets c) has met  d) had met

20. Terms of the deal ... agreed upon.

a) - b) is not ¢) have neth d) will not

TEST 2. Choose the correct verb form from a), b), c)tadiill the gaps in
the following sentences.

1. People feel as if they ... to.

a) lies b) will lie c) welied d) have lied

2. He started his present business in 1990 whitesir30s, but ... a number
of previous entrepreneurial ventures dating badkgahildhood.

a) would initiate  b) was initiated c)tinted d) had initiated

3. The vast majority of the 19,000 wildfires that across Spain this
summer are the result of human carelessness.

a) have raged b) raged c) hgdda  d) were raging

4. In his five years in office, the prime ministeas five times visited
Tokyo’s Yasukuni Shrine, where the 2.5m servicemén ... in wars since 1868
are honoured.

a) fell b) were fallen  ¢) have beerliigl d) have fallen

5. If you ... everything Ducker has written, you wilbt necessarily be a
good manager.



a) are reading  b) won't be reading edre d) will read

6. Once the major goals ..., the ways of achieviggrtitan be worked out.

a) established wi) be established

b) have been established d) anegoestablished

7. In the past decade, marketing gurus ... custoraes, customer focus,
even customer centricity.

a) have called for b) was called for c) hatled for  d) call for

8. Economists said the figures showed the economst least as fast as in
the worst

recessions since the second world war.

a) have been sinking b) was sinking c) is sigkd) had been sinking

9. Too many bosses are thinking about what thelysaif next, rather than
hearing what ... now.

a) is said b) is saying c) is being saidd) has been said

10. So unless it's something you enjoy doing, yall abandon it long
before it ... a

chance to take off.

a) had b) has c) will have d) is having

11. The more you write about things to fear, theemmeople will start to
fear them, until the thing actually ... to happen.

a) are starting b) will start  c¢) willleastarted  d) starts

12. The companies will run sound environmentalged, of course, this
will not happen overnight, but it ... gradually, b bit.

a) has happened b) had happened c) happdhss happening

13. Even when the answers were not as detailedwas. y they did provide
immediately actionable steps.

a) are hoping  b) will hope ¢) had hoped d) hoped

14. The new move was necessary because the situatio

a) will change b) had changed c) is changed) has changed

15. For 15 years our economy ... at an average ef tgnt.

a) has been growing b) was growing c) is growird) has grown

16. Households in the Netherlands ...a negative gaviate since 2003,
spending more than they earn.

a) have had b) were having c) are havingwillbe having

17. Over the past five years disappointingly fewdpean leaders ... as
forthrightly

) as Mr. Ch. did.

a) had spoken b) were speaking c¢) were spoldBrhave spoken

18. In India investors ... rarely consider amountssi¢han 5 m rupees
[$200,000] — it is not worth the hassle — and thesfer to invest twice that.

a) are b) have c) will d) shall



19. The treasurer of one big investment bank adWhat we ... now is
like a natural disaster — whole parts of the finansystem which we took for
granted have stopped working.

a) saw b) sees c) are seeing  d) will see

20. But that [situation] ... something that peopléd heally prepared for.

a)isnot b)was not c)has notbeen d)had not been

TEST 3. Choose the correct verb form from a), b), c), dliltdhe gaps in
the following sentences.

1. Until this summer, most financiers ... that it veegremely unlikely that
wide-spread problems in the money markets wouldiocc

a) has assumed b) assume C) $mared d) assumed

2. In recent years regulators and investors ... &y pbwn §menmysaTh)
the risks attached to banks.

a) have tended b) tend c) arditen d) were tending

3. American officials ... aware for several years thés system contained
potential flaws.

a) are b) have been c) areghein d) had

4. The coalition agreement concluded in Februaiguksttes that a final
decision would be taken once the Council of Statthe .matter.

a) had considered b) would consider cpimrs d) will consider

5. Over the last few days | ... the situation at Nerh Rock unfold and
have come up with some compelling learnings.

a) watched b) am watching c) will be watchim) have been watching

6. The last eight years ... some of the most futiglin my life.

a) are being b) have been c) was d) were being

7. The British economy has been growing for years] ... now also of
record-breaking size.

a) has been b) is being c)is d) will be

8. If the market in one country ... pursuit of otheray be essential.

a) will reduce b) will be reduced c) is recdgi d) had reduced

9. They threatened to go on strike unless they .acaeptable contract.

a) received b) will receive ereives d) would receive

10. The Russian natural gas behemoth [Gazpromi}itradlly ... more of a
domestic and regional player than a global one.

a) is being b) is c) has been d) was being

11. We determined that some of the banks ... losses.

a) were incurring  b) are incurring c) will incdl) will be incurring

12. You must often go backward, not forward, whew y.. difficulty
solving a problem.

a) has b) will have ¢) are having d) will be having



13. Attempts ... to improve factory goods but duritigis process
production slows down, making even fewer goodslalks.

a) have made b) are making c) are being nijdeave been making

14. They ... the concept to be adopted for a long.tim

a) have been pressing for  ¢) pressed for

b) had pressed for d) was pressed fo

15. There ... no famine in India since the Britisti.le

a)is b)hasbeen c)are d) had been

16. In the years since | took my first bumblingpstein business, the
company ... to over 350 employees.

a) was grown b) had been growing c) will bevgn d) has grown

17. Posts which become vacant, over the next taosye.

a) are not filled. ¢) did ndt.fi

b) have not filled. d) will not figed.

18. These measures ... in terms of cost and caggpbi€ation.

a) are ranked b) ranked c) have rankedwilt)rank

19. Hierarchical status is no longer appropriateanagers and non-
managers ...as equals who have different organizatiotes to fulfill.

a) are viewed b)view c)wasviewed d)ehaiewed

20. Workers were not opposed to change, but theg hitter because they
... by the

government.

a) will be deceived b) were deceived c) are iece d) had been deceive

PART 2. NON-FINITE FORMS OF THE VERB (verbal forms):
gerund, infinitive, participle I, participle Il

TEST 1. Choose the correct verbal form from a), b), c)todfjll the gaps in
the following sentences.

1. In 1993, despite the continuing recession, matfibnals invested some
$232 billion the world over; by 2020 these flowsymeell ... fourfold.

a) have increased b) to increase c)asm@  d) will increase

2. Procter & Gamble recently asked people fromralind the world to
come up with

ideas for an advertising campaign, and was suxprise that the clear
winner came from Taiwan.

a) to find b) to be found d) findi d) having found

3. The Americans have had problems ... their cadapan partly because
they have paid no attention to a distribution syste

a) having sold b) selling c) tdl se d) to have sold

4. Some of them are middle-aged managers keend¢atrepreneurs.

a) having become b) becoming ¢) becomed) have become
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5. The planning component encompasses ... the godls.aappropriate
strategies.

a) having defined ... established b) to definestablish

¢) defining ... establishing d) beirgfided ... being established

6. As the job of manager implies ... activities diierts, the leading function
is very

important.

a) being directed  b) having directed djitect d) directing

7. Keeping America competitive will require ... gomarent regulations
wherever they are counterproductive.

a) having eliminated b) eliminating c) to dlvate d) to have
eliminated

8. If ... properly, pressure to achieve challengingplg can stimulate
innovation,

entrepreneurial creativity, and superior finanptformance.

a) managing b) being managed c) having mahatenanaged

9. ... as mechanisms to gather information, intevaatontrol systems open
information channels from the bottom of the orgatian to the top, an essential
way to combat risk.

a) Having used b) Used c) Using  d) To be using

10. ... these things allows team members to be foftyrmed participants
in discussions.

a) Having known  b) To know c¢) Knowing ) Having been known

11. When ... appropriately, this model of decisiorking can maximize
the quality of a team's decisions.

a) used b) having used C) using d) to use

12. Consensus is achieved when everyone on the temmhad wide
opportunities

to have his or her ideas ... and can fully supp@téam's decision.

a) considering  b) being considered c) beidensd  d) considered

13. In every sector of business, companies arérgao look for ideas that
can save

money as well as ... a reduced impact on the envieshm

a) have b) to have ¢) haviag d) having

14. Yet many managers are still slow ... the impargéaof the environment.

a) to have realized  b) to be realized readjizing d) to realize

15. These are some of the main issues ... by amogmmental audit.

a) to be addressed b) addressing  c) taeaddr d) having addressed

16. ... the need for action, the next step is tobdistathe [audit] system as
part of the overall company policy.

a) Being determined b) Having determined &tebmining  d)
Determined
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17. Where internal resources [for auditing] arekilag or familiarity needs
..., outside help may be needed.

a) being avoided b) avoided ) to be awbided) to be avoiding

18. They are creating a new breed of company riesfere ... possible.

a) being thought  b) thought c) thinking hdying been thought

a) to be offered  b) to offering  ¢) offering d) to offer

19. In any case, the opposition is too weak andtibas ... a real
alternative.

20. The Chinese firm enjoys 30% of the market, .e. ldader three years
ago.

a) having been b) being C) to hiawen d) to be

TEST 2. Choose the correct verbal form from a), b), c)todfjll the gaps in
the following sentences.

1. But for those with enough rubles in their poskethere’s plenty of
diversion ....

a) for having.  b) to have. c) to be hadd) having had.

2. ... for seven hours the declaration was approved.

a) Having discussed ¢) Having beenudised

b) Being discussed d) After discugsin

3. The great Portuguese and Spanish navigatorsquistadores and
explorers appear to have been the first Europeanscourse to the services of
interpreters.

a) having b)to have had c) having had) to have

4. There are good jobs ... in tourism now that theerahocks of the
earthquake have faded away.

a) to be had b) having ¢) haviad h d) being had

5. They are afraid ... presumptuous or inquisitivetopid.

a) to think b) to be thought c¢) of having thhtuigd) of being thought

6. The best job-seekers not only prepare answertydizal interview
guestions, but also prepare for the type of ingwi...

a) to expect b) expecting  c¢) to be expectin d) expected

7. A tax of just a few dollars on every airlinekiit ... could raise up to

$10 bn a year to finance campaigns against diséagdaca.

a) being sold b) sold c) selling d) to sell

8. But Drucker and McGregor are not the first tovéhahoughts of
management as a

formal discipline ....

a) learning and practicing. chave learned and practiced.

b) being learned and practiced. d) todaeried and practiced.

9. Such things as quantity ..., plant location, mankgstrategy, and so on

are examples of secondary goals.
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a) manufacturing cying manufactured

b) to be manufactured d) famfacturing

10. Being a good coach is ... how to best orchesthat¢éalent of the team.
a) to know  b) having known c) knowing d) known

11. Probably the most stressful part of the jobrifaggement] is dealing
with other people, and there is no rule book .. his fctivity.

a) having been followed b) following c) tolmk  d) followed

12. Securing and maintaining adequate personmés stith an analysis

of the tasks ... on a job.

a) doing b) to have done c) did d)to be done
13. In 1991 one-eighth of all PCs ...were laptops.
a) being sold b) sold cpwsold d) selling

14. State-run banks, while ..., continue to offerddréo loss-making state-
owned

enterprises.

a) having been partially privatized martially privatized

b) partially privatizing d) partially to privatize

15. Treat others the way they would like ...

a) treating.  b) treated. c) to be tréate d) to have treated.

16. ...well, analogies are also powerful tools fomoounicating complex
messages

quickly.

a) Chosen b) Choosing ¢) To choosd) To be chosen

17. Capital is mobile enough ...to some tax compmetitiamong
governments.

a) giving rise  b) givenrise  c) to haveeggiwise d) rising

18. The fact is that, ... the troubled banks, Japaeady to invest and stop
hoarding cash.

a) having cleaned up ¢) having been ddamp

b) cleaning up d) being cleanpd

19. The president also showed his commitment tohe.environment by
ruling on tough emission controls. (rule oBbHOCHTH OGHILHATEHOE PEIICHUE
OTHOCHUTCJIIBHO ‘ICFO-J'I.)

a) helping b) help c¢) be helped d) having helped

20. Charges, commissions [to advisers, intermestipiand possibly taxes
will have to be paid before you ... to make a profit.

a) even started ) witl even start

b) have even started d) eive even started

TEST 3. Choose the correct verbal form from a), b), c)todfjll the gaps in
the following sentences.
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1. The more protected the economy, the greategdies ... from illicit
activity such as smuggling or corruption.

a) having b) to be had ¢) having had d) to have

2. Consultants KPMG say that “to take major [businetesiisions without
first testing their consequences in a safe enviertroan be likened to training
an airline pilot by having him fly a 747 withoutst ... months in the simulator”.

a) having spent b) to spend C) teent d) spent

3. Managers like to be right — and like ... as right.

a) to see b) being seen c) seeing d) to be seen

4. ... hundreds of cases from diverse settings, masagan draw upon a
large set of

vicarious experiences as they make choices.

a) Being studied and debated thly8ng and debating

¢) To have studied and debated d)rdpstudied and debated

5. | ... people for years to describe the charadiesisof their most
successful and

rewarding team experiences.

a) ask b) have asked ¢) am asking d) am being asked

6. We believe there are lots of opportunities ...thg current economic
conditions.

a) having opened up b) openingup c) opepedd) to have opened up

7. They can repay all of the money ..., includingiest.

a) having borrowed b) borrowed c) borrowingd) to borrow

8. This book is designed ...fast, it doesn't mattbere you start, you get

a complete idea on every page.

a)toberead b)tobereading c)readingd) having read

9. Half a million families [in Spain] will have tutle ... their mortgages.

a) paying b) to pay c) to bgipg d) to be paid

10. A great way to determine product demand is .w htany people are
searching for a specific product.

a) to be seen  b) having seen c) to seed) to have seen
11. The central bank looks to the market for guigaanly to find its own
opinions ....

a) to mirror.  b) mirrored.  c¢) mirroring. d) having mirrored.

12. In every sector of business, companies art@rgjdo look for ideas that
can save money as well as ... a reduced impact oentvieonment.

a) having b) to have ¢) to havd ha d) having had

13. ... about his family background, he said he hadvg up in Moscow,
where his father was a weapons engineer and hisematbiochemist.

a) Having been questioned ¢) Questioned

b) After questioning d) To besgtioned
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14. Universities were able to educate internatishadents ... in their home
countries.

a) being situated b) having been situated toatad  d) situating

15. Various academic economists have estimatedasieof the damage ...
by carbon emissions.

a) doing b) to have done ¢) hguwone d) done
16. The big advantage small companies have ovgelaorporations is the
speed at

which they can take decisions. “We could go intduach to discuss
whether to set up a Russian subsidiary and byriHeogit ... to do it.”

a) have decided b) decided c) todkeci  d) have been decided

17. I would appreciate ... a copy of your talk, ileas available.

a) having received  b) to receive c) besrpived d) receiving

18. You must often go backward, not forward, whesu yare having
difficulty ... a

problem.

a) to be solved b) to solve  c) solving d) having solved

19. Downsizing is an attempt ... costs while leaviegenue unchanged.

a) to have reduced b) reducing c) havingced d) to reduce

20. 1 won some money only ... it again.

a) having lost b) to lose c) losing d) lost

PART 3. DEGREES OF COMPARISON

TEST 1. Fill in the gaps with appropriate forms of adjees and adverbs;
their initial forms are given at the end of eachtsace.

1. ... than 10% of office workers have mobile e-msidl,there is plenty of
room for

growth. [FEW]

2. These jobs became ... boring and repetitive. [MUCH

3. According to Maslow when one need is more s gisfied another, ...
level need becomes dominant. [HIGH]

4. Our relationship to science and technology todaglifferent from that
characteristic of ... times. [EARLY]

5. The General Electric has had ... leaders sincé® 188ight — than the
Vatican has had Popes. [FEW]

6. He was both the ... and the ...-experienced boanthbee [YOUNG;
LITTLE]

7. Hitachi is ... and ... of Japan’s big three eleatrigroups. [LARGE;
RESPECTED]

8. The more people who manufacture and trade, ...cthmpetition.
[GREAT]
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9. Competition among manufacturers and mercharniss tedl people by
providing even ... goods and probably ... prices. [MANYOW]

10. During that decade the nation [US] endured .sirtass crisis and the
highest rate of unemployment in its history. [BAD]

11. Nowadays foreign companies may find enteringcighized areas [in
Korea] such as electrical plant engineering ... [EASY

12. These twin trends towards ... hierarchies andntegration across
borders have pushed multinationals towards a nedeinwhich they like to call
a “networked organization” and in which activitie®d decision-making are
widely dispersed. [FLAT; CLOSE]

13. But competition from ..., ... Japanese companief sis Canon forced
them [Xerox’s various national affiliates] to intage their activities. [CHEAP;
FLEXIBLE]

14. ... countries of the world have 20% of the waldbpulation but they
use 60% of the world’s resources. [RICH]

15. Clearly, laptops are going to become ..., and SMALL, LIGHT,
POWERFUL]

16. The global imbalance continues. For a long timany pundits have
argued that the ... the imbalance persists, the .latiding will be when it ends.
[LONG; HARD]

17. Americans have felt ... and, therefore, ... to sSpgWEALTHY;
WILLING]

18. A lower dollar will stimulate exports by makitigem ... to foreigners.
[CHEAP]

19. India has been much ... than China in its apgrda becoming a
superpower.

[QUIET]

20. Finding the spare cash to print the magazine been one of the
...things. [TRICKY]

TEST 2. Fill in the gaps with appropriate forms of adjees and adverbs;
their initial forms are given at the end of eachteace.

1. Italy’s finances are in a much ... state thanar ygo. [HEALTHY]

2. He points out even the ... forecast — 2.7 per geawth in gross national
product for the next year — would be respectabiarfost euro zone economies.
[GLOOMY]

3. While rich people are ... than poor people withircountry, average
happiness does not increase as that country g¢isAPPY; RICH]

4. Microsoft is ... innovative in the markets in whidt faces the ...
competition, though it is, curiously, still capaldé innovating in markets in
which it has strong rivals (notably video gamift)TTLE; LITTLE]
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5. The Seychelles is regarded as ... group of islandshe world.
[BEAUTIFUL]

6. These [exporting] firms expand employment 20ceer ... than non-
exporting firms and are 10 percent ...likely to ffHAST; LITTLE]

7. Small and medium-sized exporters do even ... thage ones and
accounts for 70

percent of all sales abroad. [GOOD]

8. Individuals will need ... education, training argtraining to enable
them to compete effectively in the world econon@OOD]

9. History shows, however, that the United Statedar ... with large
initiatives than small ones, certainly in tradedJ{S8CESSFUL]

10. Unemployment is rising at ... rate in 15 yeadf@\$T]

11. But ... the current market turmoil continues, he tecriminations will
grow — and, with them, the pressures for reforr@§IG; MUCH]

12. The Japanese prime minister remains one of.efteaaf any advanced
nation.

[WEAK]

13. Einstein said, “if | have seen ... than otherss because | have stood
on the shoulders of giants”. [FAR]

14. Even a vast debt is not a problem if an everamount of wealth is
available to cover it. [VAST]

15. In the case of the UK, there is about five 8me wealth per capita than
debt — which hardly sounds like a nation on thalbif personal bankruptcy.
[MUCH]

16. The level of [UK] debt is indeed ... than evemlmsolute terms, but so
is the level of wealth. [HIGH]

17. If efficiency were carried to the extreme, ..emgtion would have zero
costs.

[EFFICIENT]

18. Natural resources and energy are getting ... andSCARCE;
EXPENSIVE]

19. San Francisco is one of ... cities in the USAOETLY]

20. The city’s finances are now among ... in RUgSI&ALTHY]

PART 4. COMPLEX TEST
1) INFINITIVE CONSTRUCTIONS: complex object; complex
subject;
for + noun + infinitive; 2) GERUNDIAL CONSTRUCTION S; 3)
MODAL VERBS + PERFECT INFINITIVE; 4) SEQUENCE OF TE NSES

TEST 1. Choose the appropriate grammar form.
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1. But the cost for Exxon-Mobil ... its productionefs, as Greenpeace
demands, would be huge: arguably, shutting itsskrd

a) reducing b) to have reduced c) to reducd) being reduced

2. Thus while the speed and timing of the rublals[fn 1998] may ..., the
fall itself was not.

a) have been surprising ¢) beingssed

b) have surprised d) bepseed

3. He claims he would rather let his round dates [BOth birthday] ...
unnoticed.

a) to pass b) passing c) being passedd) pass

4. We seem ... a good team now, and the future’srgdiright.

a) to be formed b) to have formed c) to haventfermed d) forming

5. Today, the Melnikov House [in St.-Petersburgdrse ... to become a
museum.

a) to have been destined ¢) destined

b) being destined d) hgvireen destined

6. As inflation has gotten worse, the governmentifi@ may ... it had to
toughen its stand.

a) be felt  b) have felt  c) felt d) feel

7. | have seen Bill Gates, Microsoft's co-founder, presentations about
how the next generation of software will change lougs.

a)to be giving b)togive c)to haveasiv d) give

8. The coalition agreement concluded in Februaigukttes that a final
decision would be taken once the Council of Statthe .matter.

a) had considered b) would consider c) carsid d) will have
considered

9. The cunning Dutch traders [in the™&entury] could ... no conception
of the almost fantastic development the city [NearR] was to enjoy.

a) had b) have had ¢) has d) had had

10. European stock markets may ... through a ratiagnant period over
the last few weeks.

a) have been b) be ¢) had been d) been

11. The power struggle may already ... the dynamicthe relationship
with the US.

a) was changing c¢) have beamghd

b) have been changing d) has changed

12. Thus while the speed and timing of the rublaflsmay ..., the fall itself
was not.

a) have been surprising ¢) being surprised

b) have surprised d) be surprised
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13. Other classical principles such as unity ofnowand, style of
leadership and so on may well ... earlier, paterti@ltgganizations but appear to
have little place in modern society.

a) suited b) to suit ¢) hauvded d) suit

14. As a consequence of global industrial develagmee may ... the
world’s climate, and damaged a great deal moraiogarthly habitat besides.

a) altering  b) altered c) be altered d) have altered

15. As inflation has gotten worse, the governm@ttifia] may ...it had to
toughen its stand.

a) be felt b) have felt c) felt d) feel

16. The French government insisted on the Ameriican... no more than
49% of

Euro Disney.

a) being owned b) owned c) to own owhing

17. We heard of that experiment ...last week.

a) to be made b) having been made c) bmmge d) to have been
made

18. He didn’t forget their ... him that he would lensto the conference.

a) telling b) to tell ¢) having told d) being told

19. The key to keeping the ideas ...is an atmosplibege everyone can

feel free to contribute.

a) flowing b)to flow c) be flowing ) dtaving flowed

20. | remember my father ... me that he had depositedey in a Swiss
bank.

a) beingtold b)totell c¢)to have toldd) telling

TEST 2. Choose the appropriate grammar form.

1. After all our rhetoric about every job in theganization ... and primary,
the obvious truth is that we value some positionsenthan others.

a) is critical  b) to be critical c) beingtaral  d) to have been critical

2. The Department of Energy doesn’t want to seephogram ... .

a)to delay b)to have been delayed @y d) is delaying

3. He later realized that if he had been less bdynttaditional functional
silos, the work ... much faster.

a) will progress c¢) will beogressing

b) would have progressed d) progressed

4. Trading in Tokyo saw the dollar ... as low as B08yen and as high as
119.05.

a) to move b) moves C) move ah moved

5. He could not have opened that very importangial textile factory
unless people ... to provide money to buy the larditarild the factory.

a) had been prepared ¢) would be prepared
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b) will be prepared d) were prepared

6. Those businessmen would not have acted if tadyniot thought they ...
from their investments.

a) are profiting b)) will profit  c) hadgfited  d) would profit

7. The business of buying and selling shares iarprises has become so
big that offices ... to be set up where the sellihgtares, or stock can take place
[stock exchange].

a) have had b) had had c) wouletha d) has had

8. ... the need for action, the next step is to distalbhe [audit] system as
part of the

overall company policy.

a) Being determined c) Determining

b) Having determined d) Determined

9. The Internet shopping means the barriers ... &ehare extraordinarily
low.

a) entering b) to have entered cefutering d) to enter
10. You then need to assess ....
a) where be changes made ¢) whenegelsacan be made

b) where can changes be made. d) where changge

11. The policy [of the company] is unlikely ... wha@stakes charge after
the weekend.

a) being effected D) to effect c¢) will béeeted d) to be effected

12. These political parties ... indistinguishableoldgically.

a) has been considered  b) are consider&) considered  d) consider

13. I wouldn’t have come to Berlin if it ... for theb.

a) wasn't b) hadn’t been c) would be wdyen't

14. Growth in 2010 is expected ..., unemploymentsgg at the fastest
rate in 15 years, and consumer spending has plunged

a) to be close to zero ¢) bailuged to zero

b) closing to zero d) vk close to zero

15. The council of ministers [ltaly] could not déeianything unless the
parties ... first ....

a) will ... decide b) would ... decide. c) had .ecitled d) was ...
decided

16. The US administration has insisted that thetddnhiStates would act
alone, if need ....

a) be. b) is. c) has been.  d) will be.

17. Most salary workers are exempt from the prasp&earnings ... with
age because they are paid on a time basis.

a) declining  b) to decline  c) will dedin d) being declined

18. We can see this pattern of one economy ... onofop previous
economy in our

20



history.
a) having formed b) forming c) have formed) being formed
19. We determined that some of the banks were limgulosses that could

a) be avoided. b) be avoiding. ) avoid.d) have been avoided.
20. Measuring productivity gains ... to be difficult.
a) have turned out  b) turned out c¢) areibgrout d) was turned out

PART 5. ADJECTIVES (-ED, -ING)

TEST 1. Adjectives (-ed, -ing). Choose the appropriagant.

1. Credit cards have been tte& preferred/ (b) preferring way of paying
for online

purchases up to now.

2. The issue of global warming has given risgdpheating/ (b) heated
debate.

3. Russian exporters will have (a) guaranteeinjgu@ranteed channels of
exports to all markets of WTO members.

4. Because it undermines credibility, dishonestypéashaps the mosta)
troubled/ (b) troubling trait a subordinate can have.

5. A company’qa) operated/ (b) operating policies, production techniques,
and inventory and credit-control systems fundamnibnietermine the firm’s
financial profile.

6. In the (a) followed/ (b) following pages, I'll discuss the turnaround
process and Nissan’s new culture in more detail.

7. Retaining(a) existing/ (b) existed customers is far less expensive than
replacing them.

8. Given the urgency of the situation we couldaffdrd to spend time to

(a) protracted/ (b) protracting debates.

9. Ghetto children who receiveda) prolonging/ (b) prolonged intensive
tutoring and special care showed unusual 1Q gains.

10. Work in America shows that even a little Lagaching can have a

(a) marked/ (b) marking effect on the English language skills of innecit
children.

11. We [congressmen] commend your [VOA] determoratind hard work
in bringing the voice of democracy to tif@) troubling/ (b) troubled Chinese
population. (VOA = Voice of America)

12. 1 compliment you for impartiality in treatingre&ry subject — social,
economic or

political. Among them is thd€a) frightening/ (b) frightened problems of
drugs and the destruction that it causes among@ebpll ages and races.

13. He was verya) touching/ (b) touched, but he chose not to attend the
meeting; he said he would feel foolish.
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14. European countries will have trouble financthgir (a) existed/ (b)
existing pension systems.

15. But the snag with all such definitions [of thabject of economics] is
that they usually turn out to be too restrictivesome senses and too wide(g)
embracing/ (b) embraced in others.

16. Items of fixed capital have(a) continuing/ (b) continued and repeated
use in the process of production.

17. Some of the rapidly growing literature and assk on strategic
management an@) interested/ (b) interesting from this point of view.

18. To visitors Buckingham Palace is a placéa)fendured/ (b) enduring
interest.

19. When information began to flow again, it was n@) inspired/ (b)
inspiring. (He cy/mIa HUYETO XOPOIIETO)

20. The findings of the ZEW institute reported adest rise in investor
expectations but described the improvement ag) disappointing/ (b)
disappointed.

TEST 2. Adjectives (-ed, -ing). Choose the appropriatéave.

1. Most of management wgs) boring/ (b) bored compared with the
younger crew Mr. S. was used to spending time with.

2. Usually, promotion involves increased pay. Esenthere are many

(a) appealing/ (b) appealed things about promotion that have nothing to do
with money.

3. This study reports that almost all the seveetyes business units

(a) surveying/ (b) surveyed used some sort of objective-based appraisal
system.

4. The(a) increasing/ (b) increased productivity brought about by wage
alterations can bg) amazing/ (d) amazed.

5. Latin America’s economic and institutional refar were insufficient to
deliver the(a) promising/ (b) promised results.

6. The president took direct control over &) pricing/ (b) priced
decisions.

7. The firm bought (a) troubling/ (b) troubled coamges and rapidly turned
them around.

8. If it [innovative equipment] is labor-saving hitay displace(a) existed/

(b) existing employees.

9. Lasers and fiber optics will have @) continued/ (b) continuing
economic impact.

10. His career was more théa) distinguishing/ (b) distinguished.

11. Itis in a period of change that we often fgét most need, to link our
past, present, and future intdga compelling/ (b) compelled whole.
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12. “Dialogue marketing” is a multistep conversatietween company and
customer that takes place over ga) extending/ (b) extended period and is
triggered by customer transitions.

13. These(a) disturbed/ (b) disturbing facts have all made headlines
recently, but just how seriously should we takerte

14. Qwest boosted its place in the alreddy crowded/ (b) crowding
mobile-telephone market in America by buying capatom Sprint.

15. There are a number (#) excited/ (b) exciting areas of research in the
intersection of law and economics and politicaésce.

16. The manager&) surveyed/ (b) surveying felt that having the proper
flow of

information as well as useful interaction with athevas critical in getting
good results.

17. This situation is particularkg) worried/ (b) worrying for America.

18. When riots erupt in one of the biggest coustatthe supposedly stable
European Union [EU], it can bé) embarrassed/ (b) embarrassing for the
government concerned.

19. Even after shares are made available to foeesgthe state will retain

a(a) controlled/ (b) controlling 51%.

20. On our home page, we offer a wide rang€a)fspecializing/

(b) specialized service, including data storage.

PART 6. CONDITIONAL SENTENCES

TEST 1. Choose the correct verb form from a), b), c), dfiltdhe gaps in
the following sentences.

1. If computers ...enough, as bright as human bethgg;ll take over.

a) gets bright b) will get bright ¢) get brigh) should get bright

2. So | appointed a task force of senior managedevelop a contingency
plan in case Israel ... into the conflict.

a) will draw b) is being drawn  c) will beadvn  d) was drawn

3. It was obvious that if things ..., the company igdoe in financial ruin.

a) are not changed b) will not change c) didhange d) doesn’t change

4. He could not have opened that very importangioail textile factory
unless people ... to provide money to buy the larditanld the factory.

a) had been prepared ¢) would be prepared

b) will be prepared d) were prepared

5. | believe that even if Nokia ... its doors tomavrand reopened 2 years
later with a new product, the Nokia brand would bt alive.

a) shut b) would shut ¢) had shut d) will shut

6. The coalition agreement concluded in Februaigukttes that a final
decision would be taken once the Council of Statéhe matter.
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a) had considered b) would consider c) carsid d) will have
considered

7. The council of ministers [ltaly] could not deeichnything unless the
parties ... first ....

a) will ... decide. b) would ... decide. c¢) haddecided. d) was ...
decided.
8. | knew that if | ... to dictate changes from abotlee effort would

backfire, undermining morale and productivity.

a)would try  b)tried c)willtry  )dry

9. If you wait until ... no markets to worry abougwy will never be able to
invest in

emerging markets.

a) there is b) there will be  c¢) there ad) there be

10. The firm wants managers to be able to respamdediately if ...a rush
order from an important customer.

a) there is b) there willbe ¢) may be itd

TEST 2. Choose the correct verb form from a), b), c), dliltdhe gaps in
the following sentences.

1. I would have worked for free if | ... it.
a) can afford ¢) cobkl afforded
b) could have afforded d) can beraliéol

2. Unless the reasons for these strikes ... theyimdllease and grow to
challenge the state itself.

a) are eradicated c) are eradigatin

b) will be eradicated d) are being eratida

3. Unless that sum [for restructuring] ... and the@®BB. to enter the digital
age, British broadcasting risked being overwhelfgdan Americanized world
culture”.

a) will be increased ...will be helped c) were increased ... were
helped

b) would be increased ...would be helped @) increased ... are
helped

4. If we [Transaero] ... nothing we would be shut ddwy now.

a)do b)woulddo c)haddone d)wdldoing

5. Financial folk are starting to say that investinwill suffer unless the
government ... the rule of law more vigorously.

a) defends  b) will defend c) will be dederg  d) is defended

6. If we ... certain things differently, would resuhave been drastically
changed?

a)did b)woulddo c)would be doing hdd done
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7. If the company could manage to both speedash dlow and reduce
costs, it ...to

sustain an annual growth rate of 26% without gam@xternal sources of
capital.

a) were able  b)was able c)could dlibe able

8. Those businessmen would not have acted if thethey would profit
from their

investments.

a) will no think  b) were not thought c) haat thought d) thought

9. But if the IMF [International Monetary Fund] dnbt exist, it....

a) would have to be invented.  c) would be imivey.

b) had to be invented. d) woudebd to invent.

10. If the British companies ...to set up productiadilities in the foreign
markets, the effect would simply have been to aklmmpeting firms from other
industrial nations to do so.

a) fails b) has failed c) had been failingl) had failed

TEST 3. Choose the correct verb form from a), b), c),ddjilt the gaps in
the following sentences.

1. They threatened to go on strike unless they .acaeptable contract.

a) received b) will receive  c) receivesd) would receive

2. If we ... a fully fledged agreement in the futuoer exports will be at a
disadvantage.

a) won't have D) are not having c) do natéhad) has not had

3. They could react within hours ... the Presidedeoa military strike.

a) would b) could c) does d) should

4. If it wasn't for the help from our contractorgw.. to carry on with our
research.

a) were not able ¢) wouldméive been able

b) won't be able d) should he able

5. And then the metropolitan police showed up amésted him. If the
British

government ... him arrested, he would have been waamg allowed to

escape.
a) had not wanted ¢) wouldwént
b) didn’t want d) waswanted

6. They would invest more if the tax burden ....

a) are lighter.  b) were lighter.  c) woblellighter.  d) is lighter.

7. If efficiency ... to the extreme, the most effitie@peration would have
zero costs.

a) are carried b) would be carried c) wereiedr d) carried
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8. But if we ... the money for wages and heating, ¢hen we'll restrict the
hours of

opening so we use only daylight, as in th& &éntury.

a) do notget b)willnotget c) shall get d) have not got

9. | would not be surprised if foreign banks ... 5 pent of the Mexican
banking system in about five years.

a) will own b) would own ¢) owned d) had owned

10. ... the high-speed railway be constructed, it ldosupplement the
existing railway which was built in the mid-19thntery under the reign of
Nikolai I.

a) Had b) Should c) Was Whre

11. Our company is not indifferent to social iss\#'e ...for 130 years if

that were the case.

a) did not thrive and succeed ¢) wouldhwote thrived and succeeded

b) would not thrive and succeed d) had not likewing and succeeding

12. Had the advances in electrical engineering keailable then, the

project ... to
fruition.
a) might have come ¢) mightbening
b) might come d) came

13. Unless the system ...enough to accommodate ties®es, extensive
and expensive system modification may be necessary.
a) would be flexible b) will be flexible & flexible d) was flexible

14. | would not have started the case ... | not ..ol win.
a) had... convinced C) am...congih
b) were... convinced d) if ... comeed

PART 7. CHOOSE GERUND OR INFINITIVE

SECTION A.

Choose ‘-ing’ form [gerund, participle 1] or infini tive

TEST 1. Choose the correct form: gerund or infinitive.

1. Lech Walesa, the former electrician who led fitee trade union and
went on(a) to become/ (b) becoming president of Poland in 1990, signaled the
end of an era by

announcing he was leaving Solidarity [trade union].

2. Article 5 of the law says that the state wilt nationalize, or expropriate
wholly

foreign-owned enterprises. It then goeg@nsaying/ (b) to say that it may,
however, do so “in special circumstances”.
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3. In 2001, in the largest default in financialtbry, Argentina stoppe(h)
to honour/ (b) honouring debts which now total $ 77 billion (including
subsequent unpaid interest).

4. But try(a) living/ (b) to live without the government and you’ll see how
you like it. You won't.

5. Respect for others meaf@® to listen/ (b) listening to people and being
punctual for meetings.

6. The problem is that people rise to leadershipuinsociety by a tendency
toward

extroversion, which too often meaifs) ignoring/ (b) to ignore what's
going on inside themselves.

7. Critics complained the expo [annual IT tradevghioad become too large
and too

unfocused for the industry buyers and sellers & waant (a) serving/ (b)
to serve.

8. Because these managers don't sfaypto reflect/ (b) reflecting, they tend
to have

trouble developing strategies and adjusting theahdviors to new
requirements.

9. Managers have to try (a) understanding/ (b) to understand the
conditions and

influences that motivate people.

10. The European Forest Fire Information Systemdant (a) predicting/

(b) to predict and so prevent large-scale fires.

11. Books, courses, etc.... sprang up to allow pewmppass the tests, never
mind (a) to get/ (b) getting a real understanding of what was being done and why

12. Most companies have to st(g) demotivating/ (b) to demotivate their
employees.

13. In economics, unemployment mea(e to be/ (b) being out of work
but actively seeking a job.

14. This manager is afraid () being open/ (b) to be open.

15. What does it meafa) being/ (b) to be hard-working in the Japanese
context?

16. Imagination can also medn) seeing/ (b) to see a new use for a
common object.

17. Banks used t¢a) be considered/ (b) being considered the dominant
pillars of the

financial world.

18. In recent years regulators and investors hawveeid () playing down/

(b) to play down the risks attached to banks.

19. Game theory now appedgs being/ (b) to be an indispensable part of
the economist’s tool-kit.
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20. This decision was taken without Hep) to be consulted/ (b) being
consulted or even informed.

TEST 2. Choose either “-ing” form [gerund, participle Iiofinitive

1. Hierarchy appearga) being/( b) to be a natural order of nature which
applies to

organizations.

2. When it comes tda) implement/ (b) implementing radical change,
middle managers are your best bet for success.

3. Strategic networking absorbs a significant anh@fithe time and energy
that managers usually devote (@ meeting/ (b) meet their many operational
demands.

4. Through professional associations, alumni grpehsbs, and personal
interest

communities, managers gain new perspectives tHatvathem (a)
advancing/ (b) to advance in their careers.

5. But Sophie’s boss simply concluded that sheddak broad, longer-term
business

perspective. Frustrated, Sophie contemplggdeaving/ (b) to leave the
company.

6. Boosting exports [of gas] to the region [Nortlstyds crucial to (a)
increasing/ (b) increase Gazprom’s revenues.

7. That disruption is set {@) continuing/ (b) continue.

8. The conclusion beafg) repeating /(b) to repeat: Do not try to change
yourself — you are unlikely to succeed. But workdhto improve the way you
perform. And try not to take on work you cannotfpen or will only perform
poorly.

9. The Americans have had problens) to sell/ (b) selling their cars in
Japan partly

because they have paid no attention to a distdhigystem.

10. Some of them are middle-aged managers keefajdecoming/ (b)
become entrepreneurs.

11. Keeping America competitive will requir@) eliminating/ (b) to
eliminate government regulations wherever they are courtermtive.

12. He is right(a) calling/(b) to call for more federal control over power
[supply].

13. Knowing these things allows team membéa$ being/ (b) to be fully
informed

participants in discussions.

14. In every sector of business, companies arérggap look for ideas that
can save
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money as well aga) having/ (b) to have a reduced impact on the
environment.

15. The Environment Council is well placéa) to deliver/ (b) delivering
expertise from its member organizations and otmeirenment professionals in
response to demand from businesses.

16. Yet many managers are still slda) realizing/ (b) to realize the
importance of the environment.

17. The Vice President [of the organization] opesads the Deputy to the
President. As such, he will need a strong backgtéenmanaging internal senior
level teams, as well g8) to be able/ (b) being able to operate as a backup for the
President.

18. The project to double the capacity of the Ren&anal], due to

(a) being completed/ (b) be completed by 2014, is expected to cost $ 5.3
billion and will be paid for by toll increases.

19. The Chinese government, however, seems to @evoite resources to

(a) contralling/ (b) control politics on the Internet.

20. It is not possible to assess from currentlyilabke data the exact
contribution of the [financial] sector t@) inducing/ (b) induce employment in
other sectors.

TEST 3. Choose either “-ing” form [gerund, participle Iiofinitive

1. A lot of research are based on the thoughtgtrategy provokeéa) to
restructure/ (b) restructuring the organization.

2. He even advocatdd) to abolish/ (b) abolishing the Committee, arguing
it was no

longer needed to promote Las Vegas.

3. I didn’t want to risk(@) being shouted at/ (b) to be shouted at.

4. Many leading companies hesitated (&) move/ (b) moving to new
technologies for fear of ruining the success ofrteeisting technologies.

5. An organization should devote energy t¢a) make/ (b) making
continuous product improvements.

6. Europeans were quic@) seeing/ (b) to see the attraction of cars
[Toyota] that seldom broke down, unlike the natreeieties.

7. His approach advocatés) getting/ (b) to get all your work done every
day, and if you are unable to achieve it helps gimgnose where you are going
wrong and what needs to change.

8. Throughout the mid-1990s, Intel had resistdd) providing/ (b) to
provide cheap

microprocessors for inexpensive PCs.

9. But there is evidence from psychology that pe@uk better equipped to

(@)
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confirming/ (b) confirm beliefs than to (c) challenging/ (d) challenge
them, even when they have no vested interest ibdhefs.

10. He [as a Fed governor] advocat@ providing/ (b) to provide
unusually extensive guidance as part of an antatiefi strategy.

11. Developing a business over the Internet reguinany of the same
major activities aga) to start/ (b) starting any other business.

12. The central bank looks to the market for guigaonly (a) to find/

(b) finding its own opinions mirrored.

13. The price list will help you determine if tipeofit margins are high
enough (a)

justifying/ (b) to justify selling their products.

14. The court found that the Commission [the Euaopednion competition
commission] had been rigld) finding/ (b) to find Microsoft guilty of abusing its
Windows monopoly.

15. By the year 2012 we wafd) being recognized/ (b) to be recognized
amongst the leading Business Schools in Britain.

16. Furthermore, the management system has toeerablyonda) to be
responsible/ (b) being responsible for the quality of his output to his internal
customers.

17. We are committed t@a) maximizing/ (b) maximize our customers’
successes.

18. Long-term profit growth is essentiad) (ensuring/ (b) to ensure the
prosperity and well-being of Dow employees, stodttbrs, and customers.

19. Concerns about the company’s efficiency are s@) to linger/ (b)
lingering.

20. At the same time, the international trend iwai@ more wealthy
investors(a) to turn to/ (b) turning to domestic banks for services.

SECTION B

Infinitive Forms (simple/perfect/continuous; activepassive).

“-ing” forms [gerund, participle 1] (simple/perfect ; active/passive)

TEST 1. Choose the correct form of the infinitive (actpassive;
simple/perfect/continuous)

1. These technical problems are difficuli{&) be overcome/ (b) overcome.

2. The present policy of many developing countisedirected at achieving
self-sufficiency in food. A contraction of the matkis therefore to(a) be
expected/ (b) expect on both the supply and the demand side.

3. Almost all Social Security business — from apmlyfor benefits to
reporting a lost or stolen check — cé be handling/ (b) be handled by
telephone.

4. Determining the amount of monég) to be spending/ (b) to be spent on
the advertising campaign is a key decision in #r@gaign planning process.
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5. It was decided that Coke and Pepsi would nodor(@) be served/ (b)
serve in parliament [India].

6. PepsiCo’s and Coca-Cola’s products [in Indiatemeported on average
(a) to be

contained/ (b) to contain pesticides many times the norms set by the
European Union.

7. The oil prices has been higher than most peaplald (a) expect/ (b)
have expected at the start of the year.

8. European stock markets mé&g) be/ (b) have been through a rather
stagnant period over the last few weeks.

9. The common commercial policy has given the UK deeater global
influence than it woulda) have enjoyed/ (b) enjoy as a lone player.

10. Everybody loves a fat pay rise. Yet over thet gaalf-century, as
developed

economies have got much richer, people do not gagto become/ (b) to
have become happier.

11. He could no{a) open/ (b) have opened that very important original
textile factory unless people had been prepargutdeide money to buy the land
and build the factory.

12. A stay-at-home mother is able to give carehfgochild] as and when it
appears tda) need/ (b) be needed.

13. Every pound of extra cash from the taxpayelrhvaiVe (a) to fight for/

(b) to be fought for.

14. 1 wouldn’t (a) have come/ (b) come to Berlin if it hadn’t been for the
job.

15. The Microsoft people | have met are largelgrfdly and intelligent and
appeai(a) to be trying/ (b) to have been trying hard to please their customers.

16. Unless action is taken now, we expect 200,000are farmerga) to
force/ (b) to be forced into bankruptcy.

17. The offences were allegdd) to be committed/ (b) to have been
committed between 2001 and 2004.

18. Meanwhile, several thousand people are tho(ajttb be running/ (b)
to be run their cars on vegetable oil.

19. New Orleans appearéa) to be escaping/ (b) to have escaped the worst
of the havoc wreaked by Hurricane Katrina (2007).

20. A proposal is expectdd) to have been introduced/ (b) to be introduced
in the House of Representatives.

TEST 2. Choose the correct “-ing” form [gerund, partieip].

1. (a) Determining/ (b) Having determined the need for action, the next step
is to establish the system as part of the ovecaligany policy.

2. 1 didn’t want to risi(a) shouting at/ (b) being shouted at.
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3. The figures were worse than expected, econorf@ktsaving predicted/
(b) predicting a 525,000 fall in employment and a rise in the ysleyment rate
from 7.2 % to 7.5 %.

4. His talent as a manager and businessman wasdfdsle, (a) having
turned/ (b) turning the collapsing firm into a profitable venture.

5. Public transportation was not functionifg) being kept/ (b) keeping
many people from going to work, even if they wartied

6. He confirmed that his firm planned to buy motd® (a) being spent/
(b) having spent $11 million on the purchase of 55 pubs so far ykiar.

7. (a) Rising/ (b) Being risen repair costs frequently provide the incentive
for replacing old equipment.

8. The exact kinds of information depend on theetgp product(a) being
advertised/ (b) having been advertised.

9. He said estimates varied from between 15 pdrammh50 per cent of the
population(a) having employed/ (b) being employed at home by the end of the
century.

10. (a) Having defeated/ (b) Having been defeated the Premier was obliged
to resign.2

PART 8. STRUCTURE AND WRITTEN EXPRESSION
SECTION A

TEST 1. Each item consists of an incomplete sentence wiah are
required to

complete by selecting one of the 4 answers given.

1. The many laws and regulations of modern Amerizgitalism have not
prevented...

a) people with ideas and dreams to start new bssirse

b) from starting new businesses people with ideasdieams.

c) people with ideas and dreams to have startedousimesses.

d) people with ideas and dreams from starting nesiresses.

2. It will take too much capital and time...

a) to foreign general contractors to build up avoek.

b) for foreign general contractors building up anverk.

c) for foreign general contractors to build up anmek.

d) for foreign general contractors to have builtaupetwork.

3. He talked to five women about their managemégiés and discovered
there was still some resistance...

a) to their being in charge. c) to their to belarge.

b) to their be in charge. d) for their beingharge.

4. Only recently...

a) this classical view of managers has been chgelbn
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b) has this classical view of managers been clgdign

¢) had this classical view of managers been chgdlén

d) this classical view of managers had been chgdidn

5. But the US administration is, for the moment,powerful and generous
regional utility monopolies.

a) being afraid to anger c) afraid anugri

b) afraid to anger d) afraidaofyering

6. Some of the directors...

a) not seem competent to serve in key position.

b) seem not competent to serve in key position.

¢) do not seem competent to serve in key position.

d) seem competent not to serve in key position.

7. Success makes risk...

a) seem so remote. ) to seem so remote.

b) seems so remote. d) seemed so remote.

8. Today, technology [the Internet] is allowing o.reinvent themselves.

a) to many established brands to find new ways...

b) for many established brands finding new ways...

c¢) for many established brands to have found neyswa

d) for many established brands to find new ways...

9. The most important factor in successful decisi@king is that every
team member is clear about....

a) how will be made a particular decision. c¢) how a particular decision
will be made.

b) how will a particular decision be made. d) how will be a particular
decision made

10. It is important to define just ...

a) what consensus decision-making is. c) what does consensus
decision-making is.
b) what is consensus decision-making. d) what are consensus

decision-making .

TEST 2. Each item consists of an incomplete sentence wiah are
required to

complete by selecting one of the 4 answers given.

1. In every sector of business, companies arergjaid look for ideas that
can save

money ... a reduced impact on the environment.

a) as well as to have c) as well as having

b) though having d) in spite of having

2. The team should include both environmental egper familiar with the
type of
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operation being audited.

a) or people  b) and people  c¢) but peopled) than people

3. My major concern is that ...

a) there does seem to have been a deterioration.

b) there does seem being a deterioration.

c) there seem to have been a deterioration.

d) there does seem having been a deterioration.

4. It [Europe] cannot just sit around and wait ...

a) time to sort things out ) asdtita sort things out

b) for time sorting things out d) for tirteesort things out

5. As long as world prices [for oil], stay highethranians know that the
chances ... are virtually nil.

a) of their be punished with an oil embargo

b) to their being punished with an oil embargo

c) of their to be punished with an oil embargo

d) of their being punished with an oil embargo

6. Recent contacts between the two countries [WSram] ....

a) don’'t seem to have gone nowhere.

b) doesn’'t seem to have gone nowhere.

c) seem to have gone nowhere.

d) seem not to have gone nowhere.

7. ..., in the opinion of America’s director of nata intelligence, before
Iran could make a nuclear bomb.

a) It will be several years c) Severargewill be

b) There will be several years d) Pass sevealsy

8. ... politicians consider the intelligence servicas instruments for

political ends is grave enough.

a) If... b) Although... c) That... d) Because of...

9. The Russians insist ... European energy companies.

a) they could be able to buy c) they arelide ® buy

b) they should be able to buy d) they shouldttle to buying

10. It's only when we've heard and understood ydespest aspirations ...
to help you realize them.

a) what we create the financial solutions

b) when we create the financial solutions

c) as we create the financial solutions

d) that we create the financial solutions

TEST 3. Each item consists of an incomplete sentence wkah are

required to
complete by selecting one of the 4 answers given.
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1. The Americans denounced Islam Karimov, the drpresident of
Uzbekistan, after his troops massacred protestatsyear, ... it cost them an
airbase.

a) despite b) in spite of c) even though ndjpite

2. A board member who does not have good chemisthythe CEO is not
likely to be as effective, or consulted as often, ...

a) as one who is. c) as who has

b) as one who does. d) as amy does.

3. At the heart of the change ...

a) it has been the development of huge markets.

b) has been the development of huge markets.

¢) has it been the development of huge markets.

d) the development of huge markets has been.

4. The chance of ... on Thursday is now 90%.

a) it doesn’t rain ¢) there not raining

b) it not raining d) not raining

5. Ford grew up on a farm and ... in agriculture. Bamething stronger
pulled at Ford’s imagination.

a) must easily have remained c) can't edwilye remained

b) should easily have remained d) might edsilye remained

6. ... efforts to boost the morale of employees.

a) In the plan included were  c) Included in phen were

b) Including in the plan were d) Included werdlia plan

7. The company [GE] boasts what most headhuntdisvbe... the most
talent-rich

management bench in the world.

a)being b)is c) to be d) are

8. If you answer the following questions we’ll beleto give you a very
clear idea ...

a) of how can our factory-automation systems sang time and money.

b) of how our factory-automation systems can sauwe yime and money.

¢) to how our factory-automation systems can sawg §ime and money.

d) on how our factory-automation systems can save §ime and money.

9. A merger or takeover in many ways invalidatesaémployment contract:
the worker is now working for someone else, but ...

a) without they having taken any steps to changel@yers.

b) without having taken no steps to change empoyer

c¢) without taken any steps to change employers.

d) without having taken any steps to change empfoye

10. Although mergers and acquisitions remain ovetmimgly national in
scope,

increased cross-border operations are expected ...
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a) as internal market consolidation is completed.

b) as internal market consolidation will be cometet
c¢) because of internal market consolidation is deteg.
d) despite internal market consolidation is congalet

TEST 4. Each item consists of an incomplete sentence twhau are
required to complete by selecting one of the 4 answiven.
1. BAWAG'S [one of Austria’s biggest banks] dentexputation has seen

a) customers rushed to withdraw deposits. customers rushing to
withdraw deposits.
b) rushing customers to withdraw deposits. cuitomers rushing to have
withdrawn deposits.
2. Adelson showed that ... he was relativelyvn® the hotel-casino
business,
he could make big plans with the best of bispetitors.
a) while  b) despite  c) in spite of bacause
3. The parliament wouldn’'t have been anti-reform ....
a) if the reforms would benefit average people.
b) whether the reforms benefited average people.
c) were the reforms benefited average people.
d) had the reforms benefited average people.
4. still, ... that he would ever become anything madhan another
successful, smalltime multimillionaire.
a) it was little to suggest c) there \waile to suggest
b) there was small to suggest d) there was littlsuggesting
5. We need to know where the guns are coming frodnta stop....
a) them to get in to this country.
b) they getting in to this country.
c¢) them getting in to this country.
d) them to have got in to this country.
6. This country is used to....
a) local people to practice alternative lifestyles.
b) local people practicing alternative lifestyles.
c) local people to have practiced alternative tifles.
d) local people to have been practicing alterndtfestyles.
7. A foreigner who travels in and out of the coyr# also considered tax
resident ...a total of 183 days in Russia.
a) if he was ended up spending  c) if he engespending
b) if he ended up to spend d) if hi @nd up spending
8. Before 1941 the relation of forces between peackwar was such that
war could not be avoided, ...
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a) given the firm resolution of the imperialistsstart and provoke war.

b) giving the firm resolution of the imperialists $tart and provoke war.

c) given the firm resolution of the imperialists s$tarting and provoking
war.

d) given the firm resolution of the imperialists aftarting and provoking
war.

9. Given the continued employment by Swedish itrguof its
considerable skills, it is not hard to imagine ...

a) of Sweden pulling out of its slump.

b) Sweden to pull out of its slump.

c¢) for Sweden pulling out of its slump.

d) Sweden pulling out of its slump.

10. Foreign exchange analysts could not agree on ...

a) the currency [the euro] would now stabilize.

b) whether the currency [the euro] would now staéil

c¢) whether the currency [the euro] will now stawli

d) whether would the currency [the euro] now staeéil

TEST 5. Each item consists of an incomplete sentence twkau are
required to

complete by selecting one of the 4 answers given.

1. Japan’s biggest carmaker has seen ... in eveiyrred the world except
Japan.

a) sales of its vehicles rise C) saleigsofehicles rises

b) sales of its vehicles to rise  d) saleso¥ehicles being risen

2. A lot of Europeans also question the wisdom afvpking Moscow
when ..., but the West needs its help over Iran.

a) not only is their energy dependence on Russi@#aising

b) not only their energy dependence on Russiacigasing

¢) not only is increasing their energy dependemcRuossia

d) not only is their energy dependence on Russieased

3.... — indicating to markets precisely what they goéng to do next —
central bankers ought to worry about being trarsuar explaining how they
think and why they choose their policies.

a) Rather than is worrying about being predictable

b) Rather than to worry about being predictable

¢) Rather than be worrying about being predictable

d) Rather than worrying about being predictable

4. In order to provide a discussion on the Inteinistessential to provide a
short

description on ....

a) what is actually the Internet. ¢) what thietnet actually is.
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b) that the Internet actually is.  d) which ¢$ually the Internet.
5...., many people find themselves entering 2008 déthnting prospect of

digging out from under a pile of consumer debt bidwn by frenzied buying.

a) With another Christmas shopping season to becend

b) With another Christmas shopping season to hastece

¢) With another Christmas shopping season ended

d) With another Christmas shopping season beinggnd

6. ... the Internet can be described as a huge nketwuat allows

information to be collated and shared by milliofipeople.

a) Putting in the most basic of terms

b) Put in the most basic of terms

¢) Having put in the most basic of terms

d) If it put in the most basic of terms

7. This new technology enabled a world wide web [WWbf information

a) to be provided. ¢) to provide.
b) being provided. d) to have prodde
8. ... the Internet clearly existed since the 198Qsais not until the early

1990s that the corporate world were able to maleaist instead of just the
academic community and government sponsored Or@iioms.

a) In spite of c) Despite
b) Even though d) Because
9. It could be that sound economics will requirehe.tvorking life of the

average person.

a) we to expand ¢) our expanding
b) us expanding d) us to expand
10. There are more retired persons....

a) for working people to be subsidized.

b) for working people subsidized.

c) for working people to subsidize.

d) for working people being subsidized.

TEST 6. Each item consists of an incomplete sentence twkau are

required to complete by selecting one of the 4 ans\given.

time.

1...., companies my not be willing to make the neagssivestment at this

a) With the profits picture having uncertain

b) With the profits picture to be uncertain

¢) With the profits picture being uncertain

d) With the profits picture be uncertain

2. A recent survey of 100 UK chief executives fouhd greatest concern

for the next decade ....
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a) being people availability.  c) to have bpenple availability.

b) to be people availability. d) having beaople availability.

3. He denies that ... they need to be run by youpgeple.

a) for organizations to have dynamism and drive

b) for organizations having dynamism and drive

¢) in order organizations to have dynamism andedriv

d) instead of organizations to have dynamism anakdr

4. The great Portuguese and Spanish navigatorgxpidrers appear ... to
have

systematically had recourse to the services ofpnégers.

a) having been the first Europeans c) beingitseEuropeans

b) to be the first Europeans d) toehbeen the first Europeans

5. She told just seven people, and the power oflvebmouse led ...

a) to 350 million people hear the news.

b) towards 350 million people hearing the news.

c) for 350 million people hearing the news.

d) to 350 million people have heard the news.

6. | have seen people of the most diverse persmsadind temperaments ...

a) perform well in entrepreneurial challenges.

b) to perform well in entrepreneurial challenges.

c) to have performed well in entrepreneurial chragkes.

d) being performed well in entrepreneurial challehg

7. She told just seven people, and the power oflvedmmouth led ...

a) to 350 million people hear the news.

b) to 350 million people heard the news.

¢) to 350 million people hearing the news.

d) to 350 million people having heard the news.

8. In the past six months, I've had my ideas ... iagarines such as
Business Week,

Entrepreneur, and Publishers Weekly.

a) written about ¢) being written about

b) writing about d) have written about

9. He ... into several different languages, includiapanese.

a) had the videos translating  c¢) had the vidensng translated

b) had the videos translated  d) had the videdsnslate

10. Whenever someone goes to his or her assoaiatesays, “This is what
| am good at. This is the contribution | plan toxcentrate on and the results | ...
to deliver,” the response is always,” “This is mbsipful. But why didn’t you
tell me earlier?”

a) be expected ¢) should be expecti

b) will be expecting d) should be expected
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SECTION B

TEST 1. In this part, you will find that in each sentenéeyr words or
phrases have been underlined. You should selecbrieunderlined word or
phrase that would not be acceptable in formal temiEnglish and write down in
your answer sheet an appropriate word or phrase.

1. He doesn't [A] losehe [B] personatouch of the accounting firm he has
[C] long been accustomed [D] with

2. Indeed, many of the giants [multinational conipsh[A] foundthat their
computer systems, expensively [B] install€] at the dawn of the information
technology age, had become [D] hopefohchronisms.

3. In an [A] increasinglymobile world, traditions and [B] culturd€] are
stubbornly [D]_mobileresources.

4. Women [A]_tendo be better [B] bymaking [C] _stafferdeel valued and
[D] rewarded

5. Women delegate more [A] readiynd [B] expressheir appreciation [C]
to hard work more [D] often

6. America’s [A] traditionrole as a leader in space has been_[B] steadily
undermined by the diffusion of [C] affordab|®] technologiesover the past
decade.

7. People living in [A]_neavillages with unemployment [B] ratexf 50%
may well show [C] strongupport [D] forthe project.

8. Small businesses [A] combiningccount for more [B] employment
opportunities than all of the [C] majoprporations [D] putogether.

9. It is difficult sometimes to [A] tell the difference between reputable
online [B] sellingand criminals who use the Internet to [C] sepanag®ple [D]
from their money.

10. If you [A] readeverything Ducker has [B] writteryou will not [C]
necessarye a [D]_ goodnanager.

11. As time went [A] omany of his concepts [B] wernd some of them
[C] proved[D] unwork.

12. Once a corporation has [A] establislied specifics of its [B] primary
goal, it must decide other questions [C] leadm{D] secondyoals.

13. These [A] ar¢B] goodchanges [C] to happen [D] Russia

14. [A] Being part of the union [union with England] [B] has \sedl
Scotland very [C] goofD] over years

15. The [A] preciousmetal (gold) is [B]_lookedC] as the [D] ultimate
protection against inflation.

16. In the case of the UK, there [A]about five [B]_timesnore wealth per
[C] capita than debt — which [D] hardounds like a nation on the brink of
personal bankruptcy.
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17. London’s docks [A] handla colossal [B]_figureof merchandise of
every kind, and each day [C] se&e arrival and departure of ships trading with
every [D] cornernof the world.

18. [A] Participationin decision [B]_makingcan lead [C]_togreater [D]
accepof decisions.

19. Money [A] arelikely to [B] be viewed differently [C] atvarious points
in one’s career, because the need [D] foyney versus other rewards (status,
growth, security etc.) changes at each stage.

20. American managers and employees apparenthef@jhasizepay for
individual performance [B] mor¢éhan [C]_doegheir European or Japanese [D]

counterparts.

TEST 2. In this part, you will find that in each sentenéeyr words or
phrases have been underlined. You should selecbrieunderlined word or
phrase that would not be acceptable in formal temiEnglish and write down in
your answer sheet an appropriate word or phrase.

1. The actual [A] objectivean be identified as [B] to brindown the [C]
rateof inflation and strengthening the national [Dfrency.

2. [A] Most companies don’t gain a real [B] awarene$sll the hazards
within their organization [C] untomething [D] comewirong.

3. At smaller companies the CEO [A] generdilys a [B] prettygood idea
of all the risks hid or her company will [C] li{®] face

4. Crisis [A] consultingcompanies adhere [B] tthe belief that crisis
management can be [C] learnjmggardless of whether the crisis involves the
loss of employees, the [D] erosiohbrand reputation or acts of nature.

5. In the hospitality [A] industryas in many others, site decisions are often
[B] doneon the basis of [C] availabilitsather [D]_ tharchoice.

6. In the [A] pastthe location of [B]_manufacturingremises [C] were
often determined by the location of [D] ramaterials.

7. But [A] in spite ofdying, the company has [B] becomee of the [C]
healthiesthains in the [D] industry

8. Car [A] ownershipn Russia has almost [B] triplesince the early 1990s
and now [C]_coversibout every [D] fouRussian family, according to a number
of studies.

9. Ford looks [A]_atthe market in Russia over the long [B] teramd [C]
thisis why we continue [D] to seRussia as a key strategic market.

10. Ford’s decision [A] beginningranufacturing in Russia is [B] ilarge
part due to [C] growingar [D] ownership

11. Production [A] closedb the market [B] mearthat the product can be
[C] gearedbetter [D]_tothe wishes of the consumer.

12. Business English is the [A] languathat people [B] usé order to [C]
conducttrade relations and make [D] onesatfderstood.
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13. We have communications [A] satellitekich [B] doit possible [C] for
every part of the world [D] to semvery other part of the world.

14. [A] Supposeananagement [B] thinks can [C] riseprices 1.5% without
[D] dampeningdemand.

15. Our [A] relationshigo science and technology today is different from
[B] thosecharacteristic [C] oéarlier [D] times

16. Everywhere we look, we see institutions that #pearthe same as
they [B] useto be from the outside, and [C] cathe same names, but inside [D]
havebecome quite different.

17. The [A]_smallesproportion of managers we [B] studiedaround 10% -
were both highly [C] energeti®] than highly focused.

18. People are more [A] complethan [B] offeredby the [C] _early
management [D] theorists

19. In [A] manufacturingirms, payroll costs can run as [B] highes 40%
of sales [C] revenuesvhereas in [D] servicerganizations payroll costs can top
70%.

20. [A] Participationin the design and [B] administratiosf [C] reward
systems is [D] rarely

Il. VOCABULARY TESTS
TEST 1. Complete the text using the words in bracket®iéndorrect form.
MANAGEMENT. SOFT MANAGER
(The hard work of being a soft manager)

No executive can forge a (1) ... [SUCCESS] cave#rout volunteering
for high-risk (2) ... [ASSIGN]. But some (3) ... [RISHpbs seem to promise
only disaster, not (4) ... [ADVANCE]. Consider Willia Peace’s [the CEQ’S]
decision, against the advice of his (5) ... [CLOSIKles, to meet alone with 15
people he had just laid off. The encounter was .(6)EMOTION] bruising, just
as Peace knew it would be. He sat and listenedsa®tmer (7) ... [EMPLOY]
poured out their grief, anger, and bewilderment.ewlhey were through, he
patiently explained why the (8) ... [SURVIVE] of thmusiness required that he
let them go, even though there was nothing wronj thieir (9) ... [PERFORM].
And then he explained again.

The meeting had a (10) ... [SURPRISE] denouemehich you can
discover for

yourself in the pages that follow. But it's givimpthing away to point out
that Peace’s display of vulnerability and acce$igihivas seen for what it was: a
sign of

(11) ... [STRONG], not (12) ... [WEAK].

The article that Peace crafted out of his expees added a new
dimension to the
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portrait of the leader. Quietly but thoroughly, $mashed the icon of the
armor-plated hero and replaced it with a flesh-alwbd human being — fallible,
vulnerable, and for those very reasons, credibieedfective. [8: 99]

TEST 2. Read the text and choose the correct variant faomng (a) or
(b).
NATIONAL ECONOMIES. CHINA

China is now the largeét) (a) recipient / (b) taker of FDI [foreign
direct investment] in the developing world, and #ezond largest in the world
after the United States. Last year its economy a$@e grew by an estimated
11%. In this booming, bustling b®) (a) worryingly / (b) likely unpredictable
part of the world locals have the sort of insidda®wledge which saves them
(3) (a) against / (b) from making crass mistakes. But good locals are diffitaul
(4) (a) come by / (b) come up. The Hong Kong labour market is one of (B¢ (a)
successful / (b) tightest in the world. On China’'s mainland, the dearth of
managerial talent and technical skills that seeartseta common(6) (a) event /
(b) feature of communist and ex-communist countries was exsted by the
cultural revolution, whicl{7) (a) thinned / (b) united the ranks of people between
35 and 45.

(8) (a) Despite / (b) In conclusion these problems, some companies are
adopting a policy of “Chines€) (a) through / (b) at any price”, scouring the
Chinese communities of the United States and Asiasuitable ethnic Chinese.
The region ig10) (a) looking / (b) seeing the birth of a new sort of expatriate: an
ethnic Chinese who has been educated in westeindsgsschools and spends his
time (11) (a) moving / (b) leaving from one lucrative posting to another.

Nevertheless, locals do not always go dowtl with the people they
are supposed to impress. Mainlanders do not nadgssake to these “ABCs
with their MBAs”, particularly when they have ligtlgrasp of the local dialect.
They like to negotiate with “grey hairs” rather thaith people in theif12) (a)
later / (b) early 20s who still reek of Harvard Yard.

Price Waterhouse, a consultancy, calculatest tsome 450,000
expatriate managers are now working in China, amdlipts that their number
will continue to(13) (a) raise / (b) rise for the (14) (a) rest / (b) last of the
decade. Expats a(é&5) (a) expensive/ (b) wealthy to employ, requiring16) (a)
potential / (b) generous salaries(17) (a) extensive / (b) wide insurance and four
or five spells of paid18) (a) leave / (b) resting away from China every year.
Critics say they spend the first two years of thgisting getting up to speed and
the last year packing up, leaving only a brief pgrivhen they are on top form.
Sensible firms(19) (a) keep / (b) take a lot of trouble to ensure that potential
recruits are well-informed about the hardships &hana posting, and that both
they and their spouses are up to it. The manafgertheir part, may be far from
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keen to go: in these days of downsizing, delayednd short-term contracts,
many managers no

longer see a foreign posting as a safe step ondheger ladder, and many
of them have spouses whose own career would betpted by a move.

The art of management in this region is wanch the art of transferring
knowledge, implanting western business methods him&se minds. Trained
employees are so valuable that companies haveedevaious forms of “golden
handcuffs” to make sure that they do not defeatompetitors. One popular
method is tq20) (a) suggest / (b) offer them plenty of travel abroad. Companies
are also having to accommodate the Chinese taiseegredictable career ladder
and an elaborate hierarchy. Even as they are rilagietheir hierarchies in the
West, they are elongating them in the East. [5:33-1

TEST 3. Read the text below, In most of lines 1-33, rehis one extra
word. It is either grammatically incorrect or dae# fit in with the meaning of
the text. Some lines, however, are correct. Iha Is correct, write “correct”, if
there is an extra word in the line, write the extraxrd on your answer sheet.

DEFINITION AND EXTENT OF GLOBALIZATION
globalization could be have defined simply asdéeline in
costs of doing business internationally, One ©kéy effects
is to least enhance the international integratiomarkets
for goods, services, technology, ideas, finaramal other
capital, and labour. An indicator of its progresbeing
reducing differences in prices for those prodacts factors
across space (within and between countries).

But not everyone does favours globalization. Trakien
representatives of some low-skilled workers it @ountries

10 fear it could threaten their members’ jobs, while

11 environmental groups fear it less contributesatiomal and

12 global environmental problems. Others simply prétfieir

13 country to be more self-sufficient in producingatiits citizens
14 not consume.

15 Both technological and both governmental barmergtribute to
16 the costs of interacting rather internationallgll§in transport
17 costs, the huge decline in communication and médion costs,
18 and cuts in tariff and non-tariff governmentalrens to trade in
19 goods and services have not combined in the Biteéntury to
20 accelerate globalization to an unprecedented fmed that shows
21 no sign of abating.

22 While the extent of the acceleration in surelybglization

23 cannot be captured in a single statistic, se\mrairovide

24 partial indications of what is involved. A standandicator

©OoOo~NOoOOOhr,WNE

44



25 is the comparison between in trade and GDP growttile

26 merchandise trade for centuries has been grover fimn

27 output for all periods except between the two devars, the
28 gap has been more larger in the 1990s than ireariier period
29 since from the mid-nineteenth century. More thae-6ifth

30 of global output is now exported, double the prtipa in

31 the 1950s. Intra-firm trade among multinationaipawations
32 (MNCs) is estimated more to account for one-tbirgvorld

33 trade. [1: 7]

TEST 4. Read the text and choose the correct variant faomng (a) or

(b).
INFLATION AND FORCES OF GLOBALIZATION

The(1) a) world / b) nature of inflation has thus changed. But it has not died
although the forces of globalization have helmeddmbat it. PolicyZ) a) ideas/ b)
blunders by central bankers could still allow inflation {8) a) break out / b) be
present again. Some American financial analy$43 a) reckon / b) reply that the
impact of China and other newly industrializing eomies on inflation is ofte(b) a)
proclaimed / b) exaggerated. They drew on a Federal Reserve study which cdeclu
that the direct impact of cheaper Chinese impontsAmerican inflation wa¢6) a)
modest / b) fragile. However, this study7) a) ignored / b) took no notice the indirect
effects of China on wages and the fact that che@parese goods do not just reduce
the price of imports from China buy8) a) for / b) through competition, the price of
all goods worldwide.

The analysts may well have underestimated #tene(9) a) with / b) to
which globalization has borne down on inflation past years. However, more
important for policymakers today is its future effdt is argued that the emergence of
new industrial giants has increased not only globapply but also demand,
particularly (10) a) for / b) in oil and other raw materials. By running large cotre
account surpluses these economies are currentlingaddore to supply than to
demand, do theif11) a) net / b) harmful effect is disinflationary. But this could
change. If their exchange ratféi®?) a) rose / b) pushed and their domestic demand
increased, the analysts say, downward pressurei@eswould(13) a) omit / b) ease
and might one day be reversed.

(14) a) Every time / b) even though globalization has helped (d5) a) hold
down / b) pour down inflation so far, capacity constraints will evertyappear in the
global economy, just as they alwgyi$) a) have/ b) do at the national level.

Globalization dose not relieve central baskgl7) a) up / b) of their
responsibility for maintaining price stability. Bittmay require them to steer policy
(18) a) of / b) by a different compass: one th@t9) a) takes / b) gives much more
account 0{20) a) procedures/ b) developments abroad. [2: 4]
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TEST 5. Complete the text using the words in bracket®iindorrect form.
THE VALUES AMERICANS LIVE BY

Most Americans would have a difficult time (1) .JTELL] you,
specifically what the values are which Americans Iby. They have never given
the matter any

(2) ... [THINK].

Even if Americans had considered this questibay would probably, in
the end, decide not to answer in terms of a (3)DEHINE] list of values. The
reason for this decision is itself one very Amemicaalue — their (4) ...
[BELIEVE] that every individual is so unique thdtet same list of values could
never be applied to all, or even most, of theilofglcitizens.

Although Americans may think of (5) ... [THEM] &®ing more varied
and

(6) ... [PREDICT] than they actually are, it is sifycant that they think
they are.

Americans tend to think they have been only slightfluenced by family,
church or

schools. In the end, each believes, “I (7) ... [PER$Ehose which values
| want to live my own life by.”

The list of (8) ... [TYPICAL] American values wallstand in sharp
contrast to the values commonly held by the peopteany other countries ...

It is not enough simply to (9) ... [FAMILIAR] yoself with these values.
You must also, as far as possible, consider thethowi the negative or
derogatory connotation which they might have fou,y(10) ... [BASE] on your
own experience and cultural (11) ... [IDENTIFY].

Personal Control Over the Environment. Americaadonger believe in
the power of Fate, and they have come to look apleewho do as (12)...[BE]
backward, primitive, or (13) ... [HOPE] naive. To balled "fatalistic" is one of
the (14) ... [BAD] criticisms one can receive in tAenerican context; to an
American, it means one is superstitious and lat$) (.. [WILL] to take any
initiative in bringing about (16) ... [[IMPROVE].

The problems of one's life are not seen asnigargsulted from bad luck
as much as having come from one's (17) ... [LAZY]parsuing a (18 ...
[GOOD] life. Furthermore, it is considered normaht anyone should look out
for his or her own self-interests first and foremos

Most Americans find it impossible to accept thfadre are some things
which lie beyond the power of humans to achieved Americans have literally
gone to the moon, because they refused to acc@pt.(JEARTH] limitations.

Americans seem to be challenged, even compdtedp, by one means
or another (and often at great cost) what sevelmtiesgof the world is certain
cannot be (20) ... [DO]. [3: 15]
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TEST 6. Read the text and choose the correct variant &ovong (a), (b).
MULTINATIONAL COMPANIES
THE WORLD TURNED UPSIDE DOWN

Over the past decade multinational companies Haeen re{1) (a)
examining / (b) building almost every item of receive@) (a) manager / (b)
managerial wisdom.(3) (a) once/ (b) as soon as they prided themselves on their
“vertical integration” — running themselves as smhtained empire¢4) (a) last
time/ (b) at one point Ford even smelted its own steel. Now they areKsig to
their knitting” — concentrating on their core bwessis and contracting out
everything else.

Once multinationals devoted enormous resources gathering
information, (5) (a) getting / (b) giving it processed b{6) (a) some/ (b) legions
of managers and handing it to a strategy-making.eNow they are putting a
computer on every desk and givirfg) (a) energy / (b) power to front-line
workers. Once they prided themselves on their kaatiquarters and workforces
to match. Now they are miniaturizing their headaaf$ and cutting their (8) (a)
to the bone.

This change in thinking has hg®) (a) dramatic / (b) inessential
consequences. Big American companies announcelty it€4y,000 lay-offs, 10%
more than in the (10) (a) depths / (b) waves of the recession which we had
experienced two years earlier. Evéhl) (a) paternalistic / (b) materialistic
companies such as IBM, which (12) to pride theneslon (13) a job for life,
have been forced to join in the blood-letting. Ahi time the burden has fallen
not just on the hapless workers. Companies have teting their headquarters
staff and (14) rid of entire layers of management.

When Jack Smith (15) as boss of General Motoescut the corporate
bureaucracy from 13,000 to 2,000 and moved hic®ffrom that symbol of
corporate America, the f4floor of GM’s headquarters in Detroit, to a new
technical centre in the suburbs 15 miles away. Rasireduced the number of its
management levels from ten to seven.

All this has brought both institutional and peral disruption in its wake.
That

disruption (16) to continue, (17) recent fears tha&t slimming might have
gone too far — some talk of “corporate anorexiE&’en the Japanese are being
forced to rethink their (18) to lifetime employmefitis is not necessarily a bad
thing. Many middle managers lived boringly indusais lives without adding any
real (19). Contracting-out some types of work ha&ated career structures where
none existed before: computer programmers, for el@nare far (20) working
for a specialist such as EDS than they were asuobstumber-crunchers in a
sausage-making factory. [4: 12]
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TEST 7. Read the text below, In most of lines 1-33, rehis one extra
word. It is either grammatically incorrect or dae# fit in with the meaning of
the text. Some lines, however, are correct. Iha Is correct, write “correct”, if
there is an extra word in the line, write the extiaxrd on your answer sheet.

THE TECHNOLOGICAL DIMENSION OF GLOBALIZATION
There have been three technological revolutiongimsport and
communication costs in modern times. The costafgporting
goods was been lowered enormously in th& déntury by the
advent of the steam engine, which was createdsilveay and
steamship. Still hulls for ships and refrigeratfarther lowered
the real cost of ocean transport in late last agnparticularly
for perishable goods. The telegraph helped too.
The second technological revolution lowered hud@siyhe
cost of moving people. It was dominated, in thedtadalf
100f the 28" century, by the falling cost of transport by car
11land airplane thanks to many mass production of such
12goods and associated services. Ocean freight (rafmed
13by containerization) and telephone charges alsddikeh
14massively over this period. Between 1920 and 18&0real
15 charge per tone for ocean freight didn't fell hyast three-
16quarters and between 1960 and 1980 the real castatéphone
17call from New York to nearest London fell by
1890 per cent. Meanwhile, between 1930 and 1980ehlecost
190f air travel fell by 85 per cent.
20The third and current political revolution in traast and
21 communications technology, beginning towards ttdzlen
22end of the 28 century, is digital. Aided by deregulation of
23telecom markets in many countries, it id being long
24 enormously long-distance communication costs apdaally
25the cost of rapidly accessing and processing less/ledge,
26information and ideas from anywhere in the worldeSce has
27been least among the beneficiaries of the digiablution,
28spawning yet another revolution, namely in biotexdhgy.
29A side effect of the Internet’s expansion is beimg growth in
30the use of the English language. It has been ctatimat there
31 are now more people in using English as a secmgliage
32than there are less people for whom it is a fasgjuage. This
33too is lowering costs of communicating between ¢oes. [9: 18]

O©CoO~NOOUTA,WNE
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TEST 8. Complete the text using the words in bracket®iéendorrect form.
GLOBALIZATION AND MULTINATIONAL COMPANIES

Multinational companies have been subjected éoodious, often
humbling competition in recent years. All to theodo it has made them slim
down and spruce up, argues Adrian Woodlridge.

On the face of it, the increasing globalizatidrbusiness seemed likely to
play to the multinationals’ (1) ... [STRONG]. They wd be able to
manufacture their goods wherever they could firelhst (2) ... [COMBINE] of
price and quality, and distribute them whereveytbeuld discover (or create) a
demand. Many pundits predicted that a (3) ... [HAN#]global firms would
soon carve up the world between them.

As it turned out, globalization exposed the imnaltionals’ (4) ...
[WEAK]. Deregulation and (5) ... [LOW] trade barriehsve reduced the value
of their carefully cultivated (6) ... [RELATION] withgovernments and
(7)...[EXPENSIVE] accumulated knowledge of local regary quirks. It is no
longer necessary to be a classical multinationgenetrate global markets, as
companies as diverse as Microsoft and Swatch her®dstrated. The spread of
modern management techniques means that multiaddiamo longer have a
monopoly of (8) ... [MANAGE] wisdom. An epidemic ofirpting, reverse
engineering and other forms of (9) ... [INDISTRY] j10. [THIEVE] means
that they no longer even enjoy a monopoly of tle&n ideas. The plummeting
price of information technology allows smaller cames to engage in the sort of
information (11) ... [PROCESS] and information-depemdinnovation that was
once a preserve of the giants. Indeed, many ofgihats found that their
computer systems, expensively installed at the ndak the information
technology age, had become (12) ... [HOPE] anachmmis

Heavy baggage. The trouble with many multinationals is that thexg
legacies of a very (13) ... [DIFFER] era. Many grew i the heyday of
command-and-control management, when strategy eae foy a tiny elite at the
top, work was broken down into its (14) ... [SIMPLEdmponent parts and
workers were monitored by layer upon layer of mansgBut today fashion is so
fickle and markets so quicksilver that decisions éi5) ... [GOOD] taken by
front-line workers rather than by lethargic middianagers.

Above all, most multinationals are a product thie doctrine of
“economies of scale” — the idea that (16) ... [PROME)hings in ever (17) ...
[LARGE] volumes brings down unit costs, so thag bompanies will do better
than small ones. But economies of scale have beelmihg as techniques such
as lean (18) ... [MANUFACTURE] and just-in-time phaction have shifted
the emphasis from size to timeliness, and (19)COMPUTER] production has
allowed factories to produce (20) ... [CUSTOM] goadsnass-produced prices.
[4:10]
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TEST 9. Complete this text using the words in bracketthecorrect form.

MULTINATIONAL COMPANIES HAVE CHANGED THEIR IDEAS

Giant companies generate (1) ... [BUREAUCRACY] di|ogiant
factories create

Shop floor alienation; and giant corporations offail to attract (2) ...
[CREATE] workers, or make good use of those theyehd he average size of
workplace has been falling (3) ... [STEADY] throughothe (4)
[INDUSTRIAL] world since the late 1960s as largeganizations try to break
themselves up into (5) ... [SMALL] parts. (6) ... [BAD§till, the (7) ...
[STANDARD] products which pour out of large factesi are suffering from a
double squeeze: fashion-conscious customers (8)NCREASE] want goods
tailored to their particular needs, and value-canst customers are (9) ...
[LITTLE] willing to pay a premium price for a (10). [GLOBE] brand ...

Yet multinationals are not on their way out. Be contrary, this survey
will argue that a period of cut-throat (11) ... [COMPE] has left them (12) ...
[FIT] than they have been for decades. They areicking their smaller (13) ...
[COMPETE] by shrinking their head offices, removiagers of bureaucracy and
breaking themselves up into constellations of pe#ntres. They are learning to
combine economies of scale in product (14) ... [DE®@P] with (15) ...
[SENSITIVE] to local tastes. And they are beginnioguse their (16) ... [ABLE]
to operate across borders to much (17) ... [GOORjceff

Above all, multinationals have changed theimgl@about where their (18)
... [COMPETITION] advantage lies. They used to ththlt their most precious
resource was capital, and that the prime task afag@ment was to allocate it in
the most (19) ... [PRODUCT] way. Now they have becamsvinced that their
most precious resource is knowledge, and thatiingegask of management is to
ensure that their knowledge is generated as (20YWIDE] and used as
efficiently as possible. [4:11]

TEST 10. Read the text and choose the correct variant &iomang (a) and
(b).
A NEW ROLE FOR LEADERS

In today’s world, knowledge and) a) cleverness/ b) capability have
become key$2) a) to/ b) for success because everything else — proq8ra)
offerings / b) contributions , marketing strategy, sourcing schemes — iseasil
acquired or(4) a) corrected / b) imitated.

Putting people first, or at lea) a) accepting / b) taking people issues
seriously, is more important than ever. Bgita) showing b) implementing high-
commitment practices requires a different view @nagement and competitive
advantage. From this perspective, leaders buildeBys — systems that build
distinctive competence and capability and that,abee of their internal
coherence, ar€’) a) robust b) mighty even as the competiti8) a) location / b)
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landscape and the macroeconomic environment change. Thes#ereadon't
necessarily make a lot of business decisions, elesisions about strategy, or
worry a lot about financial engineering and redtitiog. They make more
important decisions about systems for recruitingtivating, and developing
people that, if successful, wil®) a) provide / b) ensure the organization has the
talent necessary(10) a) either / b) both to develop an effective strategy and to
execute it. It may seem strange to see the leadale as being the chief people
(or culture) officer, but that is exactly what yauill find in organizations that
have really achieved profi{d 1) a) with b) through people.

In hindsight, it is relatively straightforwatd assess whether or not this
effort at

systems architecture has been successful. Some ggay three colleagues
(12) a) did / b) made a study of productivity in the worldwide automobile
industry over a 40-year period. Usif@3) a) privileged / b) sophisticated
statistical methods, they were able to estimate axdy overall productivity
growth but also, morg14) a) specifically / b) specially, growth (15) a) for / b)
in labor and capital productivity and the effectsvafious CEOS’ tenures on all
this. With one exception, every automobile manufeat showed the results of a
particular CEQO's strengths ¢16) a) disadvantages/ b) weaknesses.

As long as leaders recognize the importancg(Df) a) building / b)
growing business success around their people and leammatmage with trust,
(18) a) push / b) encourage change, and make sure that their measurement
systemgq19) a) add / b) contribute rather than cause problems, organizations of
all sizes and in all sectors can accomplish gigags. It just requires leaders to
focus on what is, after all, their most importé2d) a) asset / b) treasure. [6: 24]
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